

#### **Pay Details**

Pa	ıy S	State	ment	
-		1.0.		

 Period Start Date
 11/27/2023

 Period End Date
 12/10/2023

 Pay Date
 12/15/2023

 Document
 11/67897

 Net Pay
 \$1,681.14

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205 Lakeland, FL 33805	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

### Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Holiday		0.0000	\$0.0000	\$0.00	\$646.08
Weather Closure		0.0000	\$0.0000	\$0.00	\$107.68
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	40.0000	\$26.9200	\$1,076.80	
Overtime	1	0.8800	\$40.3750	\$35.53	\$575.02
Regular Pay	2	30.4500	\$26.9199	\$819.71	\$16,839.27
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$15.48

Total Hours Worked 71.3300

Total Hours Paid 71.3300

#### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$15.48	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$56.97	\$0.00	\$0.00

#### Taxes

Тах	Current	YTD
Federal Income Tax	\$244.57	\$3,190.64

# Paid Time Off

# **Net Pay Distribution**

Plan	Balance	Account Number	Account Type	Amount
US Sick Plan	21.3300	xxxxxxx6384	Checking	\$1,681.14
		Total		\$1,681.14

### **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$1,933.76	\$1,933.76	\$244.57	\$8.05	\$1,681.14
YTD	\$21,773.27	\$21,773.27	\$3,190.64	\$72.45	\$18,510.18



# Pay Details

Pay Statement	
---------------	--

Period Start Date 12/11/2023 Period End Date 12/24/2023 Pay Date 12/15/2023 Document 11202939 Net Pay

\$383.53

Employee Number	1127082	Pay Group	TMI - Bi-Weekly
SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
Job	Intern	Cost Center	150700 - NAMR Product Distribution
Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
		Labor Type	ONASH - O-NASH
	SSN Job Pay Rate	Job Intern Pay Rate \$26.9200	SSNXXX-XX-4607LocationJobInternCost CenterPay Rate\$26.9200SIO ProjectPay FrequencyBiweeklyAX Location

#### Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Overtime		0.0000	\$0.0000	\$0.00	\$575.02
Holiday		0.0000	\$0.0000	\$0.00	\$646.08
Weather Closure		0.0000	\$0.0000	\$0.00	\$107.68
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	16.1000	\$26.9199	\$433.41	\$17,272.68
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$17.20

Total Hours Worked 16.1000

Total Hours Paid 16.1000

#### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$17.20	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$63.30	\$0.00	\$0.00

### Taxes

Тах	Current	YTD
Federal Income Tax	\$43.55	\$3,234.19

### Paid Time Off

# Net Pay Distribution

Plan	Balance	Account Number	Account Type	Amount
US Sick Plan	21.3300	xxxxxxx6384	Checking	\$383.53
		Total		\$383.53

# Pay Summary

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$435.13	\$435.13	\$43.55	\$8.05	\$383.53
YTD	\$22,208.40	\$22,208.40	\$3,234.19	\$80.50	\$18,893.71



### **Pay Details**

Pay Statement	
Period Start Date	11/

 Period Start Date
 11/13/2023

 Period End Date
 11/26/2023

 Pay Date
 12/01/2023

 Document
 11057123

 Net Pay
 \$1,851.23

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205 Lakeland, FL 33805	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

### Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Overtime		0.0000	\$0.0000	\$0.00	\$539.49
Weather Closure		0.0000	\$0.0000	\$0.00	\$107.68
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	38.5500	\$26.9201	\$1,037.77	
Regular Pay	2	25.3200	\$26.9198	\$681.61	\$14,942.76
Holiday	2	16.0000	\$26.9200	\$430.72	\$646.08
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$13.76

Total Hours Worked 63.8700

Total Hours Paid 79.8700

### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$13.76	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$50.64	\$0.00	\$0.00

#### Taxes

Тах	Current	YTD
Federal Income Tax	\$292.54	\$2,946.07

# Paid Time Off

# **Net Pay Distribution**

Plan	Balance	Account Number	Account Type	Amount
US Sick Plan	18.9500	xxxxxxx6384	Checking	\$1,851.23
		Total		\$1,851.23

### **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$2,151.82	\$2,151.82	\$292.54	\$8.05	\$1,851.23
YTD	\$19,839.51	\$19,839.51	\$2,946.07	\$64.40	\$16,829.04



#### **Pay Details**

Pay Statement	
---------------	--

 Period Start Date
 11/13/2023

 Period End Date
 11/26/2023

 Pay Date
 11/21/2023

 Document
 11031190

 Net Pay
 \$545.86

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
Lakeland, FL 33805 USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

### Earnings

Рау Туре	Week	Period Start	Period End	Hours	Pay Rate	Current	YTD
Regular Pay	0	11/06/2023	11/12/2023	7.8200	\$26.9194	\$210.51	
Regular Pay	0	10/30/2023	11/05/2023	13.1700	\$26.9203	\$354.54	\$13,223.38
Overtime	0	11/06/2023	11/12/2023	1.1300	\$40.3805	\$45.63	\$539.49
Holiday				0.0000	\$0.0000	\$0.00	\$215.36
Weather Closure				0.0000	\$0.0000	\$0.00	\$107.68
Group Term Life				0.0000	\$0.0000	\$0.00	\$12.04
Relo Tax Int				0.0000	\$0.0000	\$0.00	\$3,589.74
Total Hours Worked 22 1200	Tot	al Hours Paid 22.12	00				

Total Hours Worked 22.1200

Total Hours Paid 22.1200

### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$0.00	\$12.04	\$0.00	\$0.00
Hospital Indemn	No	\$0.00	\$44.31	\$0.00	\$0.00

#### Taxes

Тах	Current	YTD
Federal Income Tax	\$64.82	\$2,653.53

# Paid Time Off

# **Net Pay Distribution**

Plan	Balance	Account Number	Account Type	Amount
US Sick Plan	16.0800	xxxxxxx6384	Checking	\$545.86
		Total		\$545.86

### **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$610.68	\$610.68	\$64.82	\$0.00	\$545.86
YTD	\$17,687.69	\$17,687.69	\$2,653.53	\$56.35	\$14,977.81



### **Pay Details**

 Period Start Data
 10/30/2023

 Period End Data
 11/12/2023

 Pay Date
 11/17/2023

 Document
 10988835

 Net Pay
 \$1,194.91

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
Lakeland, FL 33805 USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

### Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Overtime		0.0000	\$0.0000	\$0.00	\$493.86
Holiday		0.0000	\$0.0000	\$0.00	\$215.36
Weather Closure		0.0000	\$0.0000	\$0.00	\$107.68
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	18.1700	\$26.9202	\$489.14	
Regular Pay	2	32.1800	\$26.9201	\$866.29	\$12,658.33
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$12.04

Total Hours Worked 50.3500

Total Hours Paid 50.3500

### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$12.04	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$44.31	\$0.00	\$0.00

#### Taxes

Тах	Current	YTD
Federal Income Tax	\$154.19	\$2,588.71

# Paid Time Off

# **Net Pay Distribution**

Plan	Balance	Account Number	Account Type	Amount
US Sick Plan	16.0800	xxxxxxx6384	Checking	\$1,194.91
		Total		\$1,194.91

### **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$1,357.15	\$1,357.15	\$154.19	\$8.05	\$1,194.91
YTD	\$17,077.01	\$17,077.01	\$2,588.71	\$56.35	\$14,431.95



### Pay Details

Pay Statement				
Period Start Date	10/16/2023			
Period End Date	10/29/2023			
Pay Date	11/03/2023			

Document

Net Pay

10937052 **\$1,947.82** 

Employee Number	1127082	Pay Group	TMI - Bi-Weekly
SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
Job	Intern	Cost Center	150700 - NAMR Product Distribution
Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
		Labor Type	ONASH - O-NASH
	SSN Job Pay Rate	Job Intern Pay Rate \$26.9200	SSNXXX-XX-4607LocationJobInternCost CenterPay Rate\$26.9200SIO ProjectPay FrequencyBiweeklyAX Location

# Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Holiday		0.0000	\$0.0000	\$0.00	\$215.36
Weather Closure		0.0000	\$0.0000	\$0.00	\$107.68
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	40.0000	\$26.9200	\$1,076.80	
Overtime	1	1.2500	\$40.3760	\$50.47	
Regular Pay	2	40.0000	\$26.9200	\$1,076.80	\$11,302.90
Overtime	2	1.7300	\$40.3815	\$69.86	\$493.86
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$10.32

Total Hours Worked 82.9800

Total Hours Paid 82.9800

### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$10.32	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$37.98	\$0.00	\$0.00

#### Taxes

Тах	Current	YTD
Federal Income Tax	\$319.78	\$2,434.52

#### Paid Time Off

# **Net Pay Distribution**

Plan Balance	Account Number	Account Type	Amount
No records found	xxxxxxx6384	Checking	\$1,947.82
	Total		\$1,947.82

### **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$2,275.65	\$2,275.65	\$319.78	\$8.05	\$1,947.82
YTD	\$15,719.86	\$15,719.86	\$2,434.52	\$48.30	\$13,237.04



### **Pay Details**

Pay Statement	
Period Start Date	10/02/2023
Desired Fred Date	10/15/0000

 Period End Date
 10/15/2023

 Pay Date
 10/20/2023

 Document
 10797317

 Net Pay
 \$1,776.58

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205 Lakeland, FL 33805	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

### Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Holiday		0.0000	\$0.0000	\$0.00	\$215.36
Weather Closure		0.0000	\$0.0000	\$0.00	\$107.68
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	35.3700	\$26.9200	\$952.16	
Regular Pay	2	40.0000	\$26.9200	\$1,076.80	\$9,149.30
Overtime	2	0.6300	\$40.3810	\$25.44	\$373.53
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$8.60

Total Hours Worked 76.0000

Total Hours Paid 76.0000

### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$8.60	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$31.65	\$0.00	\$0.00

#### Taxes

Тах	Current	YTD
Federal Income Tax	\$271.49	\$2,114.74

# Paid Time Off

# **Net Pay Distribution**

Plan Bala	nce	Account Number	Account Type	Amount
No records found		xxxxxxx6384	Checking	\$1,776.58
		Total		\$1,776.58

### **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$2,056.12	\$2,056.12	\$271.49	\$8.05	\$1,776.58
YTD	\$13,444.21	\$13,444.21	\$2,114.74	\$40.25	\$11,289.22



### **Pay Details**

Pay Statement	
Period Start Date	09/1

 Period Start Date
 09/18/2023

 Period End Date
 10/01/2023

 Pay Date
 10/06/2023

 Document
 10766034

 Net Pay
 \$1,922.93

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205 Lakeland, FL 33805	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

### Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Holiday		0.0000	\$0.0000	\$0.00	\$215.36
Weather Closure		0.0000	\$0.0000	\$0.00	\$107.68
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	40.0000	\$26.9200	\$1,076.80	
Overtime	1	2.9700	\$40.3805	\$119.93	\$348.09
Regular Pay	2	38.8300	\$26.9199	\$1,045.30	\$7,120.34
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$6.88

Total Hours Worked 81.8000

Total Hours Paid 81.8000

#### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$6.88	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$25.32	\$0.00	\$0.00

#### Taxes

Тах	Current	YTD
Federal Income Tax	\$312.77	\$1,843.25

# Paid Time Off

# **Net Pay Distribution**

Plan Balanc	е	Account Number	Account Type	Amount
No records found		xxxxxxx6384	Checking	\$1,922.93
		Total		\$1,922.93

### **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$2,243.75	\$2,243.75	\$312.77	\$8.05	\$1,922.93
YTD	\$11,388.09	\$11,388.09	\$1,843.25	\$32.20	\$9,512.64



### **Pay Details**

Pa	y s	Stater	nent	

 Period Start Date
 09/04/2023

 Period End Date
 09/17/2023

 Pay Date
 09/22/2023

 Document
 10615216

 Net Pay
 \$2,005.67

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
Lakeland, FL 33805 USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

### Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Weather Closure		0.0000	\$0.0000	\$0.00	\$107.68
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	33.0000	\$26.9200	\$888.36	
Holiday	1	8.0000	\$26.9200	\$215.36	\$215.36
Regular Pay	2	40.0000	\$26.9200	\$1,076.80	\$4,998.24
Overtime	2	4.1500	\$40.3807	\$167.58	\$228.16
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$5.16

Total Hours Worked 77.1500

Total Hours Paid 85.1500

#### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$5.16	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$18.99	\$0.00	\$0.00

#### Taxes

Тах	Current	YTD
Federal Income Tax	\$336.10	\$1,530.48

### Paid Time Off

# **Net Pay Distribution**

Plan	Balance	Account Number	Account Type	Amount
No records found		xxxxxxx6384	Checking	\$2,005.67
		Total		\$2,005.67

### **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$2,349.82	\$2,349.82	\$336.10	\$8.05	\$2,005.67
YTD	\$9,144.34	\$9,144.34	\$1,530.48	\$24.15	\$7,589.71



# Pay Details

Pay Statement
---------------

Period Start Date 08/21/2023 Period End Date 09/03/2023 Pay Date 09/08/2023 Document 10540975 Net Pay

\$1,807.67

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205 Lakeland, FL 33805	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

#### Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Relo Tax Int		0.0000	\$0.0000	\$0.00	\$3,589.74
Regular Pay	1	40.0000	\$26.9200	\$1,076.80	
Overtime	1	0.7500	\$40.3867	\$30.29	\$60.58
Regular Pay	2	32.6700	\$26.9201	\$879.48	\$3,033.08
Weather Closure	2	4.0000	\$26.9200	\$107.68	\$107.68
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$3.44

Total Hours Worked 73.4200

Total Hours Paid 77.4200

#### Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$3.44	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$12.66	\$0.00	\$0.00

### Taxes

Тах	Current	YTD
Federal Income Tax	\$280.25	\$1,194.38

### Paid Time Off

No records found

Plan

# Net Pay Distribution

Balance	Account Number	Account Type	Amount
	xxxxxxx6384	Checking	\$1,807.67
	Total		\$1,807.67

# Pay Summary

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$2,095.97	\$2,095.97	\$280.25	\$8.05	\$1,807.67
YTD	\$6,794.52	\$6,794.52	\$1,194.38	\$16.10	\$5,584.04



# **Pay Details**

Pay	Statem	ent
-----	--------	-----

Net Pav	\$976.37
Document	10419904
Pay Date	08/25/2023
Period End Date	08/20/2023
Period Start Date	08/07/2023

<b>Rashmi Reddy Kommidi</b> 5004 Long Lake Circle #205 Lakeland, FL 33805	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

# Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Regular Pay	2	40.0000	\$26.9200	\$1,076.80	\$1,076.80
Overtime	2	0.7500	\$40.3867	\$30.29	\$30.29
Group Term Life	2	0.0000	\$0.0000	\$1.72	\$1.72

Total Hours Worked 40.7500

Total Hours Paid 40.7500

# Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$1.72	\$1.72	\$0.00	\$0.00
Hospital Indemn	No	\$6.33	\$6.33	\$0.00	\$0.00

# Taxes

Тах	Current	YTD
Federal Income Tax	\$124.39	\$124.39

# Paid Time Off

# **Net Pay Distribution**

Plan Balance	Account Number	Account Type	Amount
No records found	xxxxxxx6384	Checking	\$976.37
	Total		\$976.37

# **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$1,108.81	\$1,108.81	\$124.39	\$8.05	\$976.37
YTD	\$1,108.81	\$1,108.81	\$124.39	\$8.05	\$976.37



# Pay Details

Pay Statement
---------------

Net Pay	\$2,800.00
Document	10478419
Pay Date	08/25/2023
Period End Date	08/20/2023
Period Start Date	08/07/2023

Rashmi Reddy Kommidi	Employee Number	1127082	Pay Group	TMI - Bi-Weekly
5004 Long Lake Circle #205 Lakeland, FL 33805	SSN	XXX-XX-4607	Location	NA-US-FL-Plant City-611 C
USA	Job	Intern	Cost Center	150700 - NAMR Product Distribution
	Pay Rate	\$26.9200	SIO Project	SRVSH - Service Shared
	Pay Frequency	Biweekly	AX Location	35854 - NA-US-FL-Plant City-611 C
			Labor Type	ONASH - O-NASH

# Earnings

Рау Туре	Week	Hours	Pay Rate	Current	YTD
Regular Pay		0.0000	\$0.0000	\$0.00	\$1,076.80
Overtime		0.0000	\$0.0000	\$0.00	\$30.29
Group Term Life		0.0000	\$0.0000	\$0.00	\$1.72
Relo Tax Int	2			\$3,589.74	\$3,589.74

Total Hours Worked 0.0000

Total Hours Paid 0.0000

# Deductions

Deduction	Pre-Tax	Employee Current	Employee YTD	Employer Current	Employer YTD
Group Term Life	No	\$0.00	\$1.72	\$0.00	\$0.00
Hospital Indemn	No	\$0.00	\$6.33	\$0.00	\$0.00

# Taxes

Тах	Current	YTD
Federal Income Tax	\$789.74	\$914.13

# Paid Time Off

# **Net Pay Distribution**

Plan Balance	Account Number	Account Type	Amount
No records found	xxxxxxx6384	Checking	\$2,800.00
	Total		\$2,800.00

# **Pay Summary**

	Gross	FIT Taxable Wages	Taxes	Deductions	Net Pay
Current	\$3,589.74	\$3,589.74	\$789.74	\$0.00	\$2,800.00
YTD	\$4,698.55	\$4,698.55	\$914.13	\$8.05	\$3,776.37